# **EXHIBIT A**

# **SECTION 00301**

# CITY OF HOLLYWOOD DEPARTMENT OF PUBLIC UTILITIES ENGINEERING & CONSTRUCTION DIVISION

#### PROPOSAL BID FORM

Project Name: Gravity Sewer System Condition Assessment and Renewal and Replacement Inflow/Infiltration (I/I) Excavated Point Repairs

Project No.:

6-7081

If the proposal is accepted, the undersigned Bidder agrees to complete all work under this Contract within 730 calendar days following the issuance of the Notice to Proceed. Provide a unit price for each line item. All entries on this form must be typed or written in block form in ink.

# **BID BASE**

#### CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM

	CONTRACTOR WOST PROVIDE UNIT			PRIOE FOR EACH LINE I EN			
Item	Description	Units	Qty	Unit Price	. Total		
1	Point repairs and 6 inch through 10 inch gravity pipe (up to 6 feet in depth)	EA	40	4,750-	190,000-		
2	Point repairs and 6 inch through 10 inch gravity pipe (6 to 8 feet in depth)	EA	20	5,000-	100,000-		
3	Point repairs and 6 inch through 10 inch gravity pipe (8 to 10 feet in depth)	EA	10	6,850-	68,500-		
4	Point repairs and 6 inch through 10 inch gravity pipe (10 to 12 feet in depth)	EA	1	8,750-	8,750-		
5	Point repairs and 6 inch through 10 inch gravity pipe (12 to 14 feet in depth)	EA	1	10,000-	10,000-		
6	Point repairs and 6 inch through 10 inch gravity pipe (14 to 16 feet in depth)	EΑ	1	12,000-	12,000-		
7	Point repairs and 12 inch through 15 inch gravity pipe (up to 6 feet in depth)	EA	5	6,400-	32,000-		
8	Point repairs and 12 inch through 15 inch gravity pipe (6 to 8 feet in depth)	EA	5	7,500-	37,500-		
9	Point repairs and 12 inch through 15 inch gravity pipe (8 to 10 feet in depth)	EA	3	10,000-	30,000-		
10	Point repairs and 12 inch through 15 inch gravity pipe (10 to 12 feet in depth)	EA	2	11,000-	22,000-		
11	Point repairs and 12 inch through 15 inch gravity pipe (12 to 14 feet in depth)	EA	1	14,000-	14,000-		
12	Point repairs and 12 inch through 15 inch gravity pipe (14 to 16 feet in depth)	EA	1	15,000-	15,000-		
13	Point repairs and 18 inch through 21 inch gravity pipe (up to 8 feet in depth)	EA	1	9,500-	9,500-		
14	Point repairs and 18 inch through 21 inch gravity pipe (8 to 12 feet in depth)	EA	1	14,000-	14,000-		
15	Point repairs and 18 inch through 21 inch gravity pipe (12 to 16 feet in depth)	EA	1	17,500-	17,500-		
16	Excavate, cut and reinstall new 8 inch FM connection. No bypass (See Note #7)	EA	1	7,500-	7,500-		
17	Excavate, cut and reinstall new 12 inch FM connection. No bypass (See Note #7)	EA	3	8,500-	25,500-		
18	Excavate, cut and reinstall new 16 inch FM connection. No bypass (See Note #7)	EA	1	10,500-	10,500-		
19	Excavate, cut and reinstall new 20 inch FM connection. No bypass (See Note #7)	EA	2	13,000-	26,000-		

# BID BASE

# CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM

<b></b>	CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM						
Item	Description	Units	Qty	Unit Price	Total		
20	Excavate, cut and reinstall new 24 inch FM connection. No bypass (See Note #7)	EA	1	17,500-	17,500-		
21	Install polyethylene fused-on saddle (open Trench)	EA	10	950-	9,500-		
22	Sewer main cleaning and TV inspection (6 inch through 12 inch)	L.F.	6,000	1.95	11,700-		
23	Sewer main cleaning and TV inspection (14 inch through 24 inch)	L.F.	750	3.50	2,625-		
24	Sewer main cleaning and TV inspection (30 inch through 36 inch)	L,F,	800	4.00	3,200-		
25	Sewer main cleaning and TV inspection (42 inch through 48 inch)	L.F.	500	9.00	450-		
26	Sewer lateral cleaning and TV inspection from main toward the private property (up to 30 feet)	EA	20	450-	9,000-		
27	Sewer lateral cleaning and TV inspection from main toward the private property (beyond 30 feet)	EΑ	1	15-	15-		
28	Sewer lateral cleaning and TV inspection from cleanout (up to 30 feet)	EA	1	375-	375-		
29	Sewer lateral cleaning and TV inspection from cleanout (beyond 30 feet)	EA	1	15-	15-		
30	Mechanical root or grease removal (12 inch and smaller)	L.F.	500	7.50	3,750-		
31	Mechanical root or grease removal (15 inch to 21 inch)	L.F.	500	10-	5,000-		
32	Mechanical tuberculation/concrete removal (12 inch to smaller)	L,F.	500	10-	5,000-		
33	Mechanical tuberculation/concrete removal (15-inch to 24- inch)	L.F.	100	12-	1,200-		
34	Mechanical tuberculation/concrete removal (30 inch to 36 inch)	L,F.	100	30-	3,000-		
35	Mechanical tuberculation/concrete removal (42 inch to 48 inch)	L.F.	100	45-	4,500-		
36	Grout 8 inch pipe abandoned (up to 12 feet depth)	L.F.	1,500	12-	18,000-		
37	Grout 12 inch pipe abandoned (up to 12 feet depth)	L.F.	450	15-	6,750-		
38	Grout 16 inch pipe abandoned (up to 12 feet depth)	L.F.	2,500	19-	47,500-		
39	Grout 24 Inch pipe abandoned (up to 12 feet depth)	L.F.	100	34-	3,400-		
40	Install CIP sectional pipe liner, 8 inch to 12 inch diameter (8 feet in length, all depths)	EA	10	3,000-	30,000-		
41	Install CIP sectional pipe liner, 15 inch to 18 inch diameter (8 feet in length, all depths)	EA	·1	4,000~	4,000-		
42	Install CIP sectional pipe liner, 24 inch diameter (8 feet in length, all depths)	EA	1	4,500-	4,500-		

# BID BASE

# CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM

Itara	Description	Units	Qty	Unit Price	Total
Item	Description  Protecting connection removed by	UIIII	C41y	Omi Plice	i Vidi
43	Protuding service connection removal by internal means.	EA	1	500-	500-
44	Exploratory excavation in grass area (up to 5 feet depth)	EA	20	450-	9,000-
45	Exploratory excavation in asphalt or concrete area (up to 5 feet depth)	EA	5	800~	4,000-
46	Exploratory excavation (up to 5 feet depth)	V.F.	20	75-	1,500-
47	Bypass pumping (6 inch through 10 inch sewer)	DAY	6	1,000-	6,000-
48	Bypass pumping (12 inch and 16 inch sewer)	DAY	1	1,500-	1,500-
49	Bypass pumping (18 inch and 24 inch sewer)	DAY	1	3,000-	3,000-
50	Bypass pumping (30 inch through 36 inch sewer)	DAY	1	4,500-	4,500-
51	Bypass pumping (42 inch and 48 inch sewer)	DAY	1	6,000-	6,000-
52	Cleanout Installation in grass area (up to 5 feet in depth)	EA	10	800-	8,000-
53	Cleanout Installation in asphalt area (up to 5 feet in depth)	EA	1	1,100-	1,100-
54	Cleanout Installation in concrete area (up to 5 feet in depth)	EA	1	1,150-	1,150-
55	Cleanout Installation (beyond 5 feet in depth)	EA	1	200-	200-
56	Cleanout Installation (open trench)	EA	1	600-	600-
57	Asphalt roadway replacement (2 Inch Thick)	S.Y.	1,500	25-	37,500-
58	Asphalt pavament overlay (1 inch thick)	S.Y.	100	15-	1,500-
59	Concrete sidewalk replacement	S.Y.	100	80-	8,000-
60	Concrete curb and gutter replacement	L.F.	100	25-	2,500-
61	Asphalt driveway replacement	S.Y.	100	25-	2,500-
62	Concrete driveway replacement	S.Y.	100	70-	7,000-
63	Replace concrete slabs and/or aprons	S.Y.	100	95-	9,500-
64	Sod replacement	S.F.	2,300	1,00	2,300-
65	Traffic control - Flagman (each)	HR	50	50-	2,500-
66	Traffic control - Arrow Board (each)	DAY	5	275-	1,375-
67	Traffic control - Barricade (each)	DAY	10	15-	150-

#### **BID BASE**

# CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM

Item	Description	Units	Qty	Unit Price	Total
68	Work in rear yard easement (Items 1 through 20)	EΑ	10	1-	10-
69	Work in rear yard easement (Items 57 through 59 and items 65 through 69)	EΑ	40	1-	40-
70	Expedited mobilization (within 24 hours of request)	EA	1	2,000-	2,000-
71	Additional excavation (more than 2 feet below the pipe), disposal of muck, furnish and install additional backfill materials	C.Y.	500	5-	2,500-
72	Well point system, 25 points, complete	DAY	10	4,500-	45,000-
73	Well point system, 50 points, complete	DAY	10	5,000-	50,000-
74	Undefined Allowance, cost allowance for work as directed by Engineer and upon authorization by the City of Hollywood Director of Public Utilities due to undefined conditions.	L.S.	1	\$100,000.00	\$100,000.00
L	TOTAL BASE BID FOR COMPLETE PROJECT:				1,166,705.00

#### TOTAL BASE BID IN WRITING:

one million one hundred sixty six thousand seven hundred five dollars

#### NOTES:

- 1 REFER TO SECTION 01025 FOR ADDITIONAL DESCRIPTION OF ITEMS.
- SUBSTANTIAL COMPLETION SHALL BE AS DEFINED IN THE PROJECT SCHEDULE IN THE SUPPLEMENTARY GENERAL CONDITIONS (SGC'S).
- 3 CLOSEOUT SHALL BE COMPLETED WITH IN 730 DAYS FROM THE ISSUANCE OF THE "NOTICE TO PROCEED".
- 4 THE CONTRACT SHALL BE BASED UPON THE SUM OF THE TOTAL BASE BID.
- 5 WORK ORDERS WILL BE ISSUED AS PROBLEM AREAS ARE IDENTIFIED.
- 6 ANY BID PROPOSAL ITEMS DEEMED UNBALANCE BY THE CITY WILL BE REJECTED.
- LINE ITEMS 16-20, INCLUDES THE COST FOR INSTALLING CLOSURE PIECES TO PERMANENTLY REJOIN AND RESTORE THE FORCE MAIN TO FULL FUNCTION OR NOT. PAYMENT FOR THESE ITEMS SHALL PROVIDE FULL COMPENSATION FOR ALL NECESSARY AND REQUIRED WORK (TRAFFIC CONTROL, ALL LABOR, MATERIALS AND EQUIPMENT) REQUIRED TO PROVIDE A COMPLETE AND ACCEPTABLE PIPE INSTALLATION.